ICT in EFL credit test, MA2, 31/05/2012.
Circle the best answer

1. "Anything that can go wrong, will go wrong" has to do with:
(a) Kurzweil,
(b) Murphy,
(c) Dudeney,
(d) Castronova,
(e) Gartner.
2. “A magazine is an iPad that does not work”... because:
(a) it is black-and-white,
(b) it is printed all over,
(c) one can turn pages,
(d) it does not react to touch,
(e) it is made of paper.
3. Pre-Windows CALL exploited ... heavily:
(a) sound,
(b) algorithms,
(c) colours,
(d) animation,
(e) text.
4. The main function of CALL programs such as pop-English was:
(a) facilitation,
(b) testing,
(c) edutainment,
(d) communicative,
(e) vocabulary.
5. ASR is not good for:
(a) the deaf,
(b) the blind,
(c) dictation,
(d) children,
(e) illiterates.
6. Social networking started with:
(a) web,
(b) MUD,
(c) MySpace,
(d) Facebook,
(e) Listserv.
7. Google is a:
(a) browser,
(b) VW,
(c) LMS,
(d) search engine,
(e) AR.

Best answers: 1b, 2d, 3e, 4b, 5a, 6e, 7d.



